Ainhom = 0.0 Ainhom - 05Aw Ainhom — ]-OAw Ainhom - 20Aw

3 [ S S-SR RO SSPRN- SO PO I OSORRPOS-OROR- SO ST [SRRNY- SRRSO~ (PO NN SRR SORRP- SRR ISR SRR (AP (N SESRN- SRR SRRRE A SRR STE- S A
P T o S CUING RO W | [T S S Oy o VI s S — I I SNIT ST (NI SOy A e -
44_, 1 T SO T S— S S BN ..o SD
& o iy f
& —1 N
o
-2 m """""""""""""""""""""""""""
_3 o o AW BN B L D R I R AR WS N S TR N TR A I
( 008 0
T T S ] I SO N S _
BN G B " &) NI TIPSR PRI 5
e
9202 \ 06 I
=
(@]

snndn o b

h A T T T T

A\ ()40

3-2-10 1 2 3
7'22//At

o
o

o
o1
amplitude




